
5826 5826.5 5827 5827.5 5828
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

53.5−

53−

52.5−

52−

51.5−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

2−

1.5−

1−

0.5−

0

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

5−

4.5−

4−

3.5−

3−

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

6237

6237.5

6238

6238.5

6239

6239.5

6240

6240.5

6241

ru
n

run:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6239}



5826 5826.5 5827 5827.5 5828
cyclenum

75.5−

75−

74.5−

74−

73.5−us
l_

1X
usl_1X:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

3

3.5

4

4.5

5

us
l_

4a
Y

usl_4aY:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

40

40.5

41

41.5

42

us
l_

4e
X

usl_4eX:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

15.5

16

16.5

17

17.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

40.4−

40.2−

40−

39.8−

39.6−

39.4−

39.2−

39−

38.8−

38.6−

38.4−

38.2−

us
l_

12
X

usl_12X:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

6237

6237.5

6238

6238.5

6239

6239.5

6240

6240.5

6241

ru
n

run:cyclenum {run == 6239}



5826 5826.5 5827 5827.5 5828
cyclenum

129.5−

129−

128.5−

128−

127.5−

us
r_

1X

usr_1X:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

4.6

4.8

5

5.2

5.4

5.6

5.8

6

6.2

6.4

6.6

6.8

us
r_

4a
Y

usr_4aY:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

217.2

217.4

217.6

217.8

218

218.2

218.4

218.6

218.8

219

219.2

219.4

us
r_

4e
X

usr_4eX:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

9

9.5

10

10.5

11

us
r_

4e
Y

usr_4eY:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

42.8−

42.6−

42.4−

42.2−

42−

41.8−

41.6−

41.4−

41.2−

41−

40.8−

40.6−

us
r_

12
X

usr_12X:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

6237

6237.5

6238

6238.5

6239

6239.5

6240

6240.5

6241

ru
n

run:cyclenum {run == 6239}



5826 5826.5 5827 5827.5 5828
cyclenum

18919

18919.5

18920

18920.5

18921

us
l_

co
il1

usl_coil1:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

3120

3120.5

3121

3121.5

3122

us
l_

co
il3

usl_coil3:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

4687

4687.5

4688

4688.5

4689

us
l_

co
il4

usl_coil4:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

127.5−

127−

126.5−

126−

125.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

5300.5

5301

5301.5

5302

5302.5

us
l_

co
il7

usl_coil7:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

6237

6237.5

6238

6238.5

6239

6239.5

6240

6240.5

6241

ru
n

run:cyclenum {run == 6239}



5826 5826.5 5827 5827.5 5828
cyclenum

16163.5−

16163−

16162.5−

16162−

16161.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

2740.5−

2740−

2739.5−

2739−

2738.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

4370

4370.5

4371

4371.5

4372

us
r_

co
il4

usr_coil4:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

94−

93.5−

93−

92.5−

92−

us
r_

co
il6

usr_coil6:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

32166

32166.5

32167

32167.5

32168

us
r_

co
il7

usr_coil7:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

6237

6237.5

6238

6238.5

6239

6239.5

6240

6240.5

6241

ru
n

run:cyclenum {run == 6239}



5826 5826.5 5827 5827.5 5828
cyclenum

286.5−

286−

285.5−

285−

284.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

21.4−

21.2−

21−

20.8−

20.6−

20.4−

20.2−

20−

19.8−

19.6−

19.4−

19.2−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

311

311.2

311.4

311.6

311.8

312

312.2

312.4

312.6

312.8

313

313.2

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

289.4−

289.2−

289−

288.8−

288.6−

288.4−

288.2−

288−

287.8−

287.6−

287.4−

287.2−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

41.4−

41.2−

41−

40.8−

40.6−

40.4−

40.2−

40−

39.8−

39.6−

39.4−

39.2−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

238.5

239

239.5

240

240.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6239}



5826 5826.5 5827 5827.5 5828
cyclenum

199

199.5

200

200.5

201

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

53.6

53.8

54

54.2

54.4

54.6

54.8

55

55.2

55.4

55.6

55.8

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

19.8−

19.6−

19.4−

19.2−

19−

18.8−

18.6−

18.4−

18.2−

18−

17.8−

17.6−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

208.5

209

209.5

210

210.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

0

0.2
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1.8

2
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4e
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4eY_coil6:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

17−

16.5−

16−

15.5−

15−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6239}



5826 5826.5 5827 5827.5 5828
cyclenum

238−

237.5−

237−

236.5−

236−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

82−

81.5−

81−

80.5−

80−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

5.5−

5−

4.5−

4−

3.5−12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

3.5

4

4.5

5

5.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

488−

487.5−

487−

486.5−
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12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6239}

5826 5826.5 5827 5827.5 5828
cyclenum

6237

6237.5

6238

6238.5

6239

6239.5

6240

6240.5

6241

ru
n

run:cyclenum {run == 6239}
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